

MAKE \$OME DOUGH

Form No	. PB01922	2	SINGLE	\$1.00 Per Play			
8,040	Tickets	@	\$1	\$8,040			
PAYS OUT							
8	Winners	@	\$500	\$4,000			
12	Winners	@	\$100	\$1,200			
20	Winners	@	\$50	\$1,000			

TOTAL PAYOUT......\$6,200
IDEAL PROFIT.....\$1,840
PAYOUT %......77% PROFIT %.......23%

FROFIT %...... 23%

10 SETS PER CASE

MAKE \$OME DOUGH

Form No	. PB01922	2-A	SINGLE	\$1.00 Per Play			
8,040	Tickets	@	\$1	\$8,040			
PAYS OUT							
8	Winners	@	\$500	\$4,000			
12	Winners	@	\$100	\$1,200			
				\$1,000			
1	Winner	(a)	\$500 Last Sa	le\$500			

TOTAL PAYOUT	\$6,700
IDEAL PROFIT	\$1,340
PAYOUT %83%	PROFIT % 17%

10 SETS PER CASE

MAKE \$OME DOUGH

Form No	. PB01922	2-B	SINGLE	\$1.00 Per Play			
8,040	Tickets	@	\$1	\$8,040			
PAYS OUT							
8	Winners	@	\$500	\$4,000			
				\$1,200			
20	Winners	@	\$50	\$1,000			
				le\$200			

10 SETS PER CASE